



File Number

Title

City of West Allis Matter Summary

Status

7525 W. Greenfield Ave. West Allis, WI 53214

R-2011-0048	Resolution		Intro	oduced									
	Resolution to approve bid of Northern Pipe Equipment, Inc., for the closed circuit TV inspection of sanitary and storm sewers in various locations within the City of West Alliş in the amount of \$106,462.00.												
	Introduced: 3/1/201	1	Controlling Body: Public Works Committee										
			Sponsor(s): Public Works Committee										
	Sponsor(s): Public works Committee												
COMMITTEE RECOMMENDATION Alopf													
MOVER	SECONDER	/	AYE	NO	PRESENT	EXCUSED							
ACTION		Barczak				~							
DATE:		Czaplewski											
3/1/2011 -		Kopplin											
14xon		Lajsic Narlock											
		Reinke											
		Roadt	/										
		Sengstock											
		Vitale	/										
	-	Weigel											
		TOTAL	4										
CICNATURE OF COMM	THE MEMBE	D											
SIGNATURE OF COMM	TIEE MEMBE	X											
Jun 1/h/ger	<u> </u>												
Chair /	Vice-	Chair	Member										
COMMON COUNCIL A	CTION	A	DOPT										
MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED							
ACTION	BECONDER	Barczak	ALE	110									
DATE:		Czaplewski	/										
MAR 0 1 2011	-	Kopplin	<u> </u>										
11/11/ 0 1 2011		Lajsic	1										
		Narlock Reinke	1										
		Roadt	1										
		Sengstock	1										
		Dengatoen											
		Vitale Weigel	1										

TOTAL



City of West Allis

7525 W. Greenfield Ave. West Allis. WI 53214

Resolution

File Number: R-2011-0048 Final Action:

MAR 0 1 2011

Sponsor(s): Public Works Committee

Resolution to approve bid of Northern Pipe Equipment, Inc., for the closed circuit TV inspection of sanitary and storm sewers in various locations within the City of West Allis, in the amount of \$106,462.00.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Northern Pipe Equipment, Inc. for 2011 Project No. 7 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Northern Pipe Equipment, Inc. for 2011 Project No. 7:

Closed Circuit TV Inspection of Sanitary and Storm Sewers Various locations in the City of West Allis

for the sum of One Hundred Six Thousand Four Hundred Sixty-Two dollars and 00/100 (\$106,462.00)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds and Storm Water Management Funds.

ADOPTED

MAR 0 1 2011

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

City of West Allis

City of West Allis 2011 Project No. 7 Bid Opening - 2/24/11

CLOSED CIRCUIT TV INSPECTION OF SANITARY AND STORM SEWERS

VARIOUS LOCATIONS IN THE CITY OF WEST ALLIS

			Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
			Northern Pipe I	Equipment, Inc.	Great Lakes	TV Seal. Inc.	Green Bay P	ine & TV. LLC
;			1772 S. VandenBerg Rd.		3600 Kewaunee Road		1100 Columbia Ave.	
			Green Bay, WI 54311		Green Bay, WI 54311		Green Bay, WI 54303	
1								
ITEM	UNI	TS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 Closed Circuit TV Inspection of Sanitary Sewer	142,000	Lin. Ft.	\$0.45	63,900.00	\$0.55	78,100.00	\$0.70	99,400.00
2 Sanitary Manhole Inspection	610	Each	\$30.00	18,300.00	\$65.00	39,650.00	\$28.00	17,080.00
3 Closed Circuit TV Inspection of Large Storm Sewe	6,260	Lin. Ft.	\$0.75	4,695.00	\$0.75	4,695.00	\$1.15	7,199.00
4 Closed Circuit TV Inspection of Storm Sewer	12,940	Lin. Ft.	\$0.55	7,117.00	\$0.65	8,411.00	\$0.80	10,352.00
5 Closed Circuit TV Inspection of Catch Basin Leads	4,150	Lin. Ft.	\$3.00	12,450.00	\$2.50	10,375.00	\$2.25	9,337.50
Total				106,462.00		141,231.00		143,368.50